
MATHS

BOOKS - KUMAR PRAKASHAN

AREAS RELATED TO CIRCLES

Textual Examples

1. The cost of fencing a circular field at the rate

of Rs. 24 per metre is Rs. 5280. The field is to

be ploughed at the rate of Rs 0.50 per .m2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_nYlHrxTGYeZO


Find the cost of ploughing the field (Take

)

Watch Video Solution

π =
22

7

2. Find the area of the sector of a circle with

radius 4 cm and of angle . Also, find the

area of the corresponding major sector [Use

30∘

https://dl.doubtnut.com/l/_nYlHrxTGYeZO
https://dl.doubtnut.com/l/_ucckF9CDysv4


]. 


Watch Video Solution

π = 3.14

3. Find the area of the segment AYB shown in

the given figure, if radius of the circle is 21 cm

https://dl.doubtnut.com/l/_ucckF9CDysv4
https://dl.doubtnut.com/l/_dflltTtkXby8


and . (Use ) 

Watch Video Solution

∠AOB = 120∘ π =
22

7

https://dl.doubtnut.com/l/_dflltTtkXby8


4. In the given figure, two circular flower-beds

have been shown on two sides of a square

lawn ABCD of side 56m. If the centre of each

circular flower-bed is the point of intersectio O

of the diagonals of the square lawn, find the

sum of the area of the lawn and the flower-

https://dl.doubtnut.com/l/_GguhzFMHUbkH


beds. 

Watch Video Solution

5. Find the area of the shaded region in the

given figure, where ABCD is a square of side 14

https://dl.doubtnut.com/l/_GguhzFMHUbkH
https://dl.doubtnut.com/l/_7VDvDzILpxmR


cm. 

Watch Video Solution

6. Find the area of the shaded design in the

given figure, where ABCD is a square of side 10

https://dl.doubtnut.com/l/_7VDvDzILpxmR
https://dl.doubtnut.com/l/_BlvAn4Ty1QJZ


Other Important Examples

cm and semicircles are drawn with each side of

the square as diameter. (Use ) 


Watch Video Solution

π = 3.14

https://dl.doubtnut.com/l/_BlvAn4Ty1QJZ


1. Find the diameter of the circle whose area is

equal to the sum of the areas of two circles of

diameters 20cm and 48 cm.

Watch Video Solution

2. The diameters of the front and the rear

wheels of a tractor are 80cm and 2m

respectively. Find the number of revolutions

that the rear wheel makes in covering a

https://dl.doubtnut.com/l/_foFDLzuKRrnn
https://dl.doubtnut.com/l/_9O3BWnndYVjj


distance in which the front wheel makes 1400

revolutions.

Watch Video Solution

3. The difference between the radii of the

bigger circle and the smaller circle is 7cm and

the difference between their area is .

Find the radii of both the circles.

Watch Video Solution

1078cm2

https://dl.doubtnut.com/l/_9O3BWnndYVjj
https://dl.doubtnut.com/l/_o28pfFrX9Ppe


4. Find the differnce of the areas of a minor

sector of angle  and its corresponding

major sector of a circle of radius 21 cm.

Watch Video Solution

120∘

5. A piece of wire 20 cm long is bent into the

form of an arc of a circle subtending an angle

of  at its centre. Find the radius of the

circle.

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_eKShBvGniOwU
https://dl.doubtnut.com/l/_537PwW8jR9Pp


6. A chord of a circle of radius 20 cm subtends

an angle of  at the centre. Find the area of

th corresponding major segment of the circle.

(Use ) 


Watch Video Solution

90∘

π = 3.14

https://dl.doubtnut.com/l/_537PwW8jR9Pp
https://dl.doubtnut.com/l/_OLgqCT02LksW


7. In the given figure, find the area of the

shaded region. (Use ) 


Watch Video Solution

π = 3.14

https://dl.doubtnut.com/l/_OLgqCT02LksW
https://dl.doubtnut.com/l/_Gqcc9njmMK8e


8. An archery target has three regions formed

by three concentric circles as shown in the

given figure. If the diameters of the circle are

in ratio , then find the ratio of the areas

of three regions. 

Watch Video Solution

1: 2: 3

https://dl.doubtnut.com/l/_YXtH9aQuoO36


9. In the given figure, ABCD is a trapezium with

, AB = 18 cm, DC = 32 cm and

distance between AB and DC = 12 cm. If arcs of

equal radii 7 cm with centres A, B, C and D

have been drawn, then find the area of the

AB ∣ ∣ DC

https://dl.doubtnut.com/l/_YXtH9aQuoO36
https://dl.doubtnut.com/l/_5AtZcMlDbISF


Exercise 12 1

shaded region of the figure. 

Watch Video Solution

https://dl.doubtnut.com/l/_5AtZcMlDbISF


1. The radii of two circles are 19 cm and 9 cm

respectively. Find the radius of the circle which

has circumference equal to the sum of the

circumference of the two circles.

Watch Video Solution

2. The radii of two circles are 8 cm and 6 cm

respectively. Find the radius of the circle

having area equal to the sum of the areas of

the two circles.

https://dl.doubtnut.com/l/_OJeB2rlLeTF7
https://dl.doubtnut.com/l/_mQVbIcPIHOs3


Watch Video Solution

3. The given figure depicts an archery target

marked with its five scoring regions from the

centre outwards as Gold, Red, Blue, Black and

White. The diameter of the region

representing Gold score is 21 cm and each of

the other bands is 10.5 cm wide. Find the area

of each of the five scoring regions.

View Text Solution

https://dl.doubtnut.com/l/_mQVbIcPIHOs3
https://dl.doubtnut.com/l/_BjDhdmQiOjo9


4. The wheels of a car are of diameter 80 cm

each. How many complete revolutions does

each wheel make in 10 minutes when the car is

travelling at a speed of 66km per hour ?

Watch Video Solution

5. Tick the correct answer in the following and

justify your choice : 

If the perimeter and the area of a circle are

https://dl.doubtnut.com/l/_G4iNvP6yMSHd
https://dl.doubtnut.com/l/_gSODTd5x8MZr


Exercise 12 2

numerically equal, then the radius of the circle

is

A. 2 units

B.  units

C. 4 units

D. 7 units

Answer: A::B

Watch Video Solution

π

https://dl.doubtnut.com/l/_gSODTd5x8MZr


1. Find the area of a sector of a circle with

radius 6 cm if angle of the sector is .

Watch Video Solution

60∘

2. Find the area of a quadrant of a circle whose

circumference is 22 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_iSqic6lC2mOJ
https://dl.doubtnut.com/l/_O5bsH8iP9NmT


3. The length of the minute hand of a clock is

14 cm. Find the area swept by the minute hand

in 5 minutes.

Watch Video Solution

4. A chord of a circle of radius 10 cm subtends

a right angle at the centre. Find the area of

the corresponding : (1) minor segment (2)

major sector ([Use )

Watch Video Solution

π = 3.14

https://dl.doubtnut.com/l/_zpC6PnFVdIwk
https://dl.doubtnut.com/l/_o5kHGQMts5ui


5. In a circle of radius 21 cm, an arc subtends

an angle of  at the centre. Find : (1) the

length of the arc (2) area of the sector formed

by the arc. (3) area of the segment formed by

the corresponding chord

Watch Video Solution

60∘

6. A chord of a circle of radius 15 cm subtends

an angle of  at the centre. Find the area of

the corresponding minor and major segments

60∘

https://dl.doubtnut.com/l/_o5kHGQMts5ui
https://dl.doubtnut.com/l/_A042nEGOdnfO
https://dl.doubtnut.com/l/_hrX44NUnGUxq


of the circle. 

(Use  and )

Watch Video Solution

π = 3.14 √3 = 1.73

7. A chord of a circle of radius 12 cm subtends

an angle of  at the centre. Find the area

of the corresponding segment of the circle.

(Use  and )

Watch Video Solution

120∘

π = 3.14 √3 = 1.73

https://dl.doubtnut.com/l/_hrX44NUnGUxq
https://dl.doubtnut.com/l/_j2tVVtC0ev1g


8. A horse is tied to a peg at one corner of a

square shaped grass field of side 15 m by

means of a 5m long rope. Find : 

(1) the area of that part of the field in which

the horse can graze. 

(2) the increase in the grazing area if the rope

were 10m long instead of 5m. (use ) 
π = 3.14

https://dl.doubtnut.com/l/_yeEKuMBzW9iN





 


Watch Video Solution

https://dl.doubtnut.com/l/_yeEKuMBzW9iN


9. A brooch is made with silver wire in the form

of a circle with diameter 35mm. The wire is

also used in making 5 diameters which divide

the circle into 10 equal sectors as shown in the

given figure. Find : 

(1) the total length of the silver wire required. 

(2) the area of each sector of the brooch.

View Text Solution

https://dl.doubtnut.com/l/_yeEKuMBzW9iN
https://dl.doubtnut.com/l/_VyHP4Fcq5Y7Y


10. An umbrella has 8 ribs which are equally

spaced (see the given figure). Assuming

umbrella to be a flat circle of radius 45 cm, find

the area between the two consecutive ribs of

the umbrella. 

Watch Video Solution

https://dl.doubtnut.com/l/_tdnPGjBNOSzb
https://dl.doubtnut.com/l/_YgvQwCwEPWkq


11. A car has two wipers which do not overlap.

Each wiper has a blade of length 25 cm

sweeping through an angle of . Find the

total area cleaned at each sweep of the blades.

Watch Video Solution

115∘

12. To warn ships for underwater rocks, a

lighthouse spreads a red coloured light over a

sector of angle  to a distance of 16.5 km.

Find the area of the sea over which the ships

are warned. (Use )

80∘

π = 3.14

https://dl.doubtnut.com/l/_YgvQwCwEPWkq
https://dl.doubtnut.com/l/_aE4fASIgy9He


Watch Video Solution

13. A round table cover has six equal designs

as shown in the given figure. If the radis of the

cover is 28cm, find the cost of making the

designs at the rate of Rs. 0.35 per . (Use cm2

https://dl.doubtnut.com/l/_aE4fASIgy9He
https://dl.doubtnut.com/l/_BMh88AzVI4i3


) 


View Text Solution

√3 = 1.7

14. Tick the correct answer in the following :

Area of a sector of angle p (in degrees) of a

https://dl.doubtnut.com/l/_BMh88AzVI4i3
https://dl.doubtnut.com/l/_QtoHdwFkuvVk


Exercise 12 3

circle with radius R is

A. 

B. 

C. 

D. 

Answer: B::D

Watch Video Solution

× 2πR
p

180

× πR2p

180

× 2πR
p

360

× 2πR2p

720

https://dl.doubtnut.com/l/_QtoHdwFkuvVk
https://dl.doubtnut.com/l/_IF9z2QSRWTY8


1. Find the area of the shaded region in the

given figure, if PQ = 24 cm, PR = 7 cm and O is

the centre of the circle. 

Watch Video Solution

https://dl.doubtnut.com/l/_IF9z2QSRWTY8
https://dl.doubtnut.com/l/_WZUxpVQv7yon


2. Find the area of the shaded region in the

given figure, if radii of the two concentric

circles with centre O are 7 cm and 14 cm

respectively and . 


Watch Video Solution

∠AOC = 40∘

https://dl.doubtnut.com/l/_WZUxpVQv7yon
https://dl.doubtnut.com/l/_nc1IYHSZqZXE


3. Find the area of the shaded region in the

given figure, if ABCD is a square of side 14 cm

and APD and BPC are semicircles. 

Watch Video Solution

https://dl.doubtnut.com/l/_nc1IYHSZqZXE


4. Find the area of the shaded region in the

given figure, where a circular arc of radius 6

cm has been drawn with vertex O of an

equilateral triangle OAB of side 12 cm as

centre. 

https://dl.doubtnut.com/l/_aKy1wpXpyWRY


Watch Video Solution

5. From each corner of a square of 4 cm

quadrant of a circle of radius 1 cm is cut and

also a circle of diameter 2 cm is cut as shown

in fig. Find the area of the remaining portion

https://dl.doubtnut.com/l/_aKy1wpXpyWRY
https://dl.doubtnut.com/l/_gMhBEYt43Kqm


of the square.

Watch Video Solution

6. In a circular table cover of radius 32 cm, a

design is formed leaving an equilateral

triangle ABC in the middle as shown in the

https://dl.doubtnut.com/l/_gMhBEYt43Kqm
https://dl.doubtnut.com/l/_6Oe2NWGdWUS5


given figure. Find the area of the design. 

View Text Solution

7. In the given figure, ABCD is a square of side

14 cm. Withcentres A, B, C and D four circles

https://dl.doubtnut.com/l/_6Oe2NWGdWUS5
https://dl.doubtnut.com/l/_4lkfngxbbm0O


are drawn such that each circle touch

externally two of the remaining three circles.

Find the area of the shaded region. 

Watch Video Solution

https://dl.doubtnut.com/l/_4lkfngxbbm0O


8. The given figure depicts a racing track

whose left and right ends are semicircular. The

distance between the two inner parallel line

segments is 60m and they are each 106 m

long. If the track is 10 m wide. Find : 

 


(1) the distance around the track along its

inner edge. 

https://dl.doubtnut.com/l/_mr1qFOMwZ1EY


(2) the area of the track. 

Watch Video Solution

9. In the given figure, AB and CD are two

diameters of a circle (with centre O)

perpendicular to each other and OD is the

diameter of the smaller circle. If OA = 7 cm, find

https://dl.doubtnut.com/l/_mr1qFOMwZ1EY
https://dl.doubtnut.com/l/_znMR8ZtShjQL


the area of the shaded region. 

Watch Video Solution

10. The area of an equilateral triangle ABC is

. With each vertex of the triangle17320.5cm2

https://dl.doubtnut.com/l/_znMR8ZtShjQL
https://dl.doubtnut.com/l/_C8HZKkxR3dj4


as centre, a circle is drawn with radius to half

the length of the side of the triangle (see the

given figure). Find the area of the shaded

region. (Use  and ) 


Watch Video Solution

π = 3.14 √3 = 1.73205

https://dl.doubtnut.com/l/_C8HZKkxR3dj4
https://dl.doubtnut.com/l/_FnEIisW4OoQF


11. On a square handkerchief, nine circular

designs each of radius 7 cm are made (see the

given figure). Find the area of the remaining

portion of the handkerchief. 

Watch Video Solution

https://dl.doubtnut.com/l/_FnEIisW4OoQF
https://dl.doubtnut.com/l/_Lany4NabVWE4


12. In the given figure, OACB is a quadrant of a

circle with centre O and radius 3.5 cm. If OD =

2cm, find the area of the (1) quadrant OACB, (2)

shaded region. 

Watch Video Solution

https://dl.doubtnut.com/l/_Lany4NabVWE4


13. In the given figure, a square OABC is

inscribed in a quadrant OPBQ. If ,

find the area of the shaded region. (Use

) 


Watch Video Solution

OA = 20cm

π = 3.14

https://dl.doubtnut.com/l/_Lany4NabVWE4
https://dl.doubtnut.com/l/_QMay34SZ342R


14. AB and CD are respectively arcs of two

concentric circles of radii 21 cm and 7 cm and

centre O (see the given figure). If

, find the area of the shaded∠AOB = 30∘

https://dl.doubtnut.com/l/_QMay34SZ342R
https://dl.doubtnut.com/l/_Q7Eq4lamNsd5


region. 

Watch Video Solution

https://dl.doubtnut.com/l/_Q7Eq4lamNsd5
https://dl.doubtnut.com/l/_g7E4g59wZpua


15. In the given figure, ABC is a quadrant of a

circle of radius 14 cm and a semicircle is drawn

with BC as diameter. Find the area of the

shaded region. 

Watch Video Solution

https://dl.doubtnut.com/l/_g7E4g59wZpua


Test Your Skills

16. Calculate the area of the designed region

in the given figure common between the two

quadrants of circles of radius 8 cm each. 

Watch Video Solution

https://dl.doubtnut.com/l/_et4wi9xBwzue
https://dl.doubtnut.com/l/_75oYBNdXQwfm


1. The circumference of a circle exceeds its

diameter by 30 cm. Find the circumference of

the circle.

Watch Video Solution

2. The area of a circular playground is

. Find the cost of facing this ground

at the rate of Rs.50 per meter.

Watch Video Solution

22, 176m2

https://dl.doubtnut.com/l/_75oYBNdXQwfm
https://dl.doubtnut.com/l/_GW1KkkFInyUR


3. The area enclosed between two concentric

circles is . If the radii of the circles

differ by 7 cm, find both the radii.

Watch Video Solution

770cm2

4. The wheels of a motorcycle are of radius 35

cm. How many revolutions per minute must

the wheel make so as to keep a speed of 66

km/h ?

Watch Video Solution

https://dl.doubtnut.com/l/_TBj5utcSHGUk
https://dl.doubtnut.com/l/_I4XDxnHCEDmC


5. A path of width 3.5m runs around the

curved boundary of a semicircular grassy plot

whose perimeter is 72m. Find the area of the

path.

Watch Video Solution

6. Find the area of the minor segment of a

circle of radius 14 cm. When the angle of the

corresponding sector is .

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_I4XDxnHCEDmC
https://dl.doubtnut.com/l/_pZ9DIZMqNTW9
https://dl.doubtnut.com/l/_CL6FeygV7okF


7. Find the area of a sector of a circle of radius

28 cm and central angle .

Watch Video Solution

45∘

8. A cow is tied with a rope of length 14 m at

the corner of a rectangular field of dimensions

. Find the area of the field in which

the cow can graze.

Watch Video Solution

20m × 16m

https://dl.doubtnut.com/l/_CL6FeygV7okF
https://dl.doubtnut.com/l/_fGdazoz8vsiA
https://dl.doubtnut.com/l/_CVYArs5US2LX


9. A chord of a circle of radius 14 cm makes a

right angle at the centre. Find the areas of the

minor and major segments of the circle.

Watch Video Solution

10. A chord of a circle of radius 10 cm subtends

a right angle at the centre. Find the area of

the corresponding : (1) minor segment (2)

major sector ([Use )

Watch Video Solution

π = 3.14

https://dl.doubtnut.com/l/_CVYArs5US2LX
https://dl.doubtnut.com/l/_V3gK9WLowZVT
https://dl.doubtnut.com/l/_Fr6EpvwdVB9F


11. In the given figure, ABC is a right triangle,

right angled at A. AB = 3 cm and AC = 4 cm.

Semicircles are drawn on AB, AC and BC as

diameters. Find the area of the shaded region. 

Watch Video Solution

https://dl.doubtnut.com/l/_Fr6EpvwdVB9F
https://dl.doubtnut.com/l/_bF2nUEXUhccT


12. In the given figure, PQRS is a diameter of

circle with radius 6cm, such that the lengths

PQ, QR and RS are equal. Semicircles are drawn

on PQ and QS as diameters. Find the area of

the shaded region. 

Watch Video Solution

https://dl.doubtnut.com/l/_tXQyxKEmkB7P


13. A paper is in the form of a rectangle ABCD

in which AB = 18 cm and BC = 14 cm. A

semicircle with BC as diameter is cut off. Find

the area of remaining paper. 

Watch Video Solution

https://dl.doubtnut.com/l/_tXQyxKEmkB7P
https://dl.doubtnut.com/l/_GGVHtoGeWuQR
https://dl.doubtnut.com/l/_ZVPn0INuzV2a


14. OAQB is a quadrant of a circle with centre

O and radius 14 cm. A semicircle is drawn on

diameter OB. Find the area of the shaded

region. 

Watch Video Solution

https://dl.doubtnut.com/l/_ZVPn0INuzV2a
https://dl.doubtnut.com/l/_EvEfQwWh58g6


Practice Thoroughly

15. What is the area of an equilateral triangle

inscribed in a circle of radius 4cm?

Watch Video Solution

1. A playground has the shape of a rectangle,

with two semicircles on its smaller sides as

diameters, added to its outside. If the sides of

the rectangle are 36 m and 24.5 m, find the

area of the playground.

https://dl.doubtnut.com/l/_EvEfQwWh58g6
https://dl.doubtnut.com/l/_x7pdCJf5qsgp


Watch Video Solution

2. A rectangular park is 100 m by 50m. It is

surrounded by semicircle flowerbeds all round.

Find the cost of levelling the semicircular

flower-beds at 70 paise per square metre.

Watch Video Solution

3. If the diameter of a semicircular protractor

is 14 cm, then find its perimeter.

https://dl.doubtnut.com/l/_x7pdCJf5qsgp
https://dl.doubtnut.com/l/_OSE65dj8cWL0
https://dl.doubtnut.com/l/_BPtTZo2OC6QR


Watch Video Solution

4. In the given figure AB is a semicircle with

centre O. Find the perimeter and the area of

the shaded region correct upto one decimal

place. Here, AC = 12 cm and BC = 16 cm. (Use

) 


Watch Video Solution

π = 3.14

https://dl.doubtnut.com/l/_BPtTZo2OC6QR
https://dl.doubtnut.com/l/_NbW4WEOFSCAf


5. In the given figure, two circles with centres A

and B touch each other internally at point C. If

AC = 8 cm and AB = 3cm, find the area of the

shaded region. 

Watch Video Solution

https://dl.doubtnut.com/l/_Ky5fI1Dgp8G7


6. The diameter of a coin is 1 cm. If four such

coins are palced on a table as shown in the

figure such that the rim of each touches that

of the other two, find the area of the shaded

region. (Use ) 
π = 3.1416

https://dl.doubtnut.com/l/_ZKvyjULctvuE


Watch Video Solution

7. In the given figure, ABC is an equilateral

triangle with side 14 cm and a circle of radius 7

cm is drawn with vertex A as centre. Find the

area of the shaded region. (Use ) 


 

[Hint : Required area = Area of triangle + Area

of circle  Area of sector]

√3 = 1.73

−2 ×

https://dl.doubtnut.com/l/_ZKvyjULctvuE
https://dl.doubtnut.com/l/_CUYjddwChcB1


Watch Video Solution

8. In the given figure, AB = 36 cm and M is the

midpoint of AB. Semicircles are drawn on AB,

AM and MB as diameters. A circle with centre C

touches all the three circles. Find the area of

shaded region. 

 

[Hint : Take O as the centre of semicircle on

https://dl.doubtnut.com/l/_CUYjddwChcB1
https://dl.doubtnut.com/l/_p882OZXiuMzh


Objective Questions

diameter AM. Take the radius of the circle with

centre C as r. Then , OC = (9 + r)cm, OM = 9 cm

and CM = (18-r) cm. Now, use Pythagoras

theorem and find r = 6 cm.]

Watch Video Solution

1. Fill in the blanks so as to make each of the

following statements true : 

The difference between the circumference and

https://dl.doubtnut.com/l/_p882OZXiuMzh
https://dl.doubtnut.com/l/_UL4sqQ05wb7b


radius of a circle is 37 cm. Then the

circumference of the circle is………

Watch Video Solution

2. Fill in the blanks so as to make each of the

following statements true : 

The area of the largest triangle that can be

inscribed in a semicircle of radius r cm is ………….

.

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_UL4sqQ05wb7b
https://dl.doubtnut.com/l/_m3m635HBOu8S
https://dl.doubtnut.com/l/_p4rYHXFstz8r


3. Fill in the blanks so as to make each of the

following statements true : 

If the perimeter of a sector of a circle of radius

6.5 cm is 29 cm, then its area is……….. .

Watch Video Solution

cm2

4. Fill in the blanks so as to make each of the

following statements true : 

If the radius of a circle diminished by 10%, its

area diminishes by …….. %.

Watch Video Solution

https://dl.doubtnut.com/l/_p4rYHXFstz8r
https://dl.doubtnut.com/l/_GmarrG4BmZhV


5. Fill in the blanks so as to make each of the

following statements true : 

The area of a quandrant of a circle with radius

28 cm is ……….. .

Watch Video Solution

cm2

6. Answer each question by selecting the

proper alternative from those given below

each question so as to make each statement

https://dl.doubtnut.com/l/_GmarrG4BmZhV
https://dl.doubtnut.com/l/_K46ZhNAYKDu5
https://dl.doubtnut.com/l/_WYgUAgjEabj9


true : 

In the given figure, the area of segment PAQ is

…………. . 


A. 

B. 

C. 

D. 

cm2

(π + 2)
a2

4

(π − 2)
a2

4

(π − 1)
a2

4

(π + 1)
a2

4

https://dl.doubtnut.com/l/_WYgUAgjEabj9


Answer: A::B::D

Watch Video Solution

7. Answer each question by selecting the

proper alternative from those given below

each question so as to make each statement

true : 

If the area of a sector of a circle bounded by

an arc of length  is equal to ,

then its radius is ....... cm.

5πcm 20πcm2

https://dl.doubtnut.com/l/_WYgUAgjEabj9
https://dl.doubtnut.com/l/_7RVE2pRpvEwG


A. 12

B. 16

C. 8

D. 10

Answer:

Watch Video Solution

8. Answer each question by selecting the

proper alternative from those given below

each question so as to make each statement

https://dl.doubtnut.com/l/_7RVE2pRpvEwG
https://dl.doubtnut.com/l/_rowqviB2sb5J


true : 

If the perimeter of a circle is equal to that of a

square, then the ratio of their areas is ……… .

A. 

B. 

C. 

D. 

Answer: A::D

Watch Video Solution

22: 7

14: 11

7: 22

11: 14

https://dl.doubtnut.com/l/_rowqviB2sb5J
https://dl.doubtnut.com/l/_LJibluPCMtJg


9. Answer each question by selecting the

proper alternative from those given below

each question so as to make each statement

true : 

It is proposed to build a single circular park

equal in area to the sum of areas of two

circular parks of diameters 16 m and 12 m in a

locality. Then, the radius of the new park

would be ............ m.

A. 10

B. 15

https://dl.doubtnut.com/l/_LJibluPCMtJg


C. 20

D. 24

Answer: A

Watch Video Solution

10. Answer each question by selecting the

proper alternative from those given below

each question so as to make each statement

true : 

https://dl.doubtnut.com/l/_LJibluPCMtJg
https://dl.doubtnut.com/l/_SAQjyOVnuDlY


The area of a circle that can be inscribed in a

square of side 6 cm is ………. .

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

cm2

36π

18π

12π

9π

https://dl.doubtnut.com/l/_SAQjyOVnuDlY


11. Answer each question by selecting the

proper alternative from those given below

each question so as to make each statement

true : 

The diameter of a circle whose area is equal to

the sum of areas of two circles of radii 24 cm

and 7 cm is ………… cm.

A. 31

B. 25

C. 62

https://dl.doubtnut.com/l/_lXwXuJ0RBbVo


D. 50

Answer:

Watch Video Solution

12. Answer each question by selecting the

proper alternative from those given below

each question so as to make each statement

true : 

The area of a square that can be inscribed in a

circle of radius 8 cm is ………… .cm2

https://dl.doubtnut.com/l/_lXwXuJ0RBbVo
https://dl.doubtnut.com/l/_PG0aMYdz9jPt


A. 256

B. 128

C. 

D. 64

Answer: A::B

Watch Video Solution

64√2

13. Answer each question by selecting the

proper alternative from those given below

each question so as to make each statement

https://dl.doubtnut.com/l/_PG0aMYdz9jPt
https://dl.doubtnut.com/l/_8Amq1oULzud5


true : 

The distance covered by a wheel of diameter

35 cm in one revolution is ……….. m.

A. 2.2

B. 1.1

C. 9.625

D. 96.25

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_8Amq1oULzud5
https://dl.doubtnut.com/l/_xSnIQ7ZNC1g8


14. Answer each question by selecting the

proper alternative from those given below

each question so as to make each statement

true : 

If the sum of circumferences of two circles

with radii  and  is equal to the

circumference of a circle of radius r, then ...........

holds good.

A. 

B. 

C. 

r1 r2

r = r1 + r2

r < r1 + r2

r > r1 + r2

https://dl.doubtnut.com/l/_xSnIQ7ZNC1g8


D. none of these

Answer: A::B

Watch Video Solution

15. Answer each question by selecting the

proper alternative from those given below

each question so as to make each statement

true : 

The perimeter of the sector OAB as shown in

https://dl.doubtnut.com/l/_xSnIQ7ZNC1g8
https://dl.doubtnut.com/l/_J4wdVnIoo3R3


the figure is ………. cm. 

A. 

B. 26

C. 

D. 

64

3

64

5

22

3

https://dl.doubtnut.com/l/_J4wdVnIoo3R3


Answer: C::D

Watch Video Solution

16. Answer the following by a number or a

word or a sentence : 

If the area of a square is same as the area of a

circle,find the ratio of the perimeter of the

square and that of the circle.

Watch Video Solution

https://dl.doubtnut.com/l/_J4wdVnIoo3R3
https://dl.doubtnut.com/l/_OdwzO0mb9sAM


17. Answer the following by a number or a

word or a sentence : 

If the area of a circle with radius r is same as

the sum of areas of two circles with radii 

and . Find the relation between  and .

Watch Video Solution

r1

r2 r, r1 r2

18. Answer the following by a number or a

word or a sentence : 

If the circumference and the area of a circle

https://dl.doubtnut.com/l/_IN6UOcxQAgHb
https://dl.doubtnut.com/l/_NkT00QRmsSQ2


are numerically equal, find the diameter of the

circle.

Watch Video Solution

19. Answer the following by a number or a

word or a sentence : 

A circular park has a path of uniform width

around it. The difference between the outer

and inner circumference of the circular path is

132m. Find the width of the circular path.

Watch Video Solution

https://dl.doubtnut.com/l/_NkT00QRmsSQ2
https://dl.doubtnut.com/l/_xuHzX0oc0kRH


20. Answer the following by a number or a

word or a sentence : 

The area of a circle is . Find the area of

a square inscribed in the circle.

Watch Video Solution

220cm2

21. State whether each of the following

statements is true or false : 

The perimeter of a square circumscribing a

circle of radius  cm is  cm.a 8a

https://dl.doubtnut.com/l/_xuHzX0oc0kRH
https://dl.doubtnut.com/l/_D62IDWTY6b46
https://dl.doubtnut.com/l/_YQjsPU3uP6z9


Watch Video Solution

22. State whether each of the following

statements is true or false : 

The distance travelled by a circular wheel of a

diameter d cm in one revolution is .

Watch Video Solution

2πdcm

23. State whether each of the following

statements is true or false : 

https://dl.doubtnut.com/l/_YQjsPU3uP6z9
https://dl.doubtnut.com/l/_1PwXeZxECcSM
https://dl.doubtnut.com/l/_4lFkaXdZ4gDb


The area of a segment of a circle is less than

the area of its corresponding sector.

Watch Video Solution

24. State whether each of the following

statements is true or false : 

The numerical value of the area of a circle is

always greater than the numerical value of its

circumference.

Watch Video Solution

https://dl.doubtnut.com/l/_4lFkaXdZ4gDb
https://dl.doubtnut.com/l/_3TA7NMKea7t4
https://dl.doubtnut.com/l/_sZUw23ZpfV4V


25. State whether each of the following

statements is true or false : 

If the areas of two sectors of two different

circles are equal, the lengths of their

corresponding arcs are equal.

Watch Video Solution

https://dl.doubtnut.com/l/_sZUw23ZpfV4V

